Ratio to ATLAS

107

[EEY

13000 GeV pp tt

[ ] I I I | I I I | I I I | I I I |_ 9
B 15
- ptTtbar (ATLAS semileptonic ttbar) 1z
B =
N~
L N
— Al
[ Jo
—i
N ]
. m
- [ -5
=
— — D:
B oy
™
<
(40
= =l
— 00
— u N
— [ Pythia 6.428 350 02
| —A— Pythia 6.428 370 1%
Pythia 6.428 380 =
— —o— Pythia 6.428 p0 =l
—  --3-- Pythia 6.428 p2010 38
B %2
N EjS
I e
| | (@]
L ol TTE

:l T T | T T T | T T T | T T T |:
— =2
1

—0.5
| | | 1 1 1 | 1 1 1 |
0 200 400 600 800

p*)GeV], m™*%} in [400,550] [GeV]



	Contents
	Page 1


